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lnstructions:

1. Calculators and Mobile Phones are not allowed.

2. Write Legibly. You may lose points for messy work.

3. Make sure that you have 8 pages of problems (Total of 11 Problems)

(There are 7 multiple choice and 4 written questions).

4. For the written questions, you need to show all your work. No points for answer without justifications.

Question
number

Answer Maximum
Points

Points

1 e 5

2 b 5

3 d 5

4 J 5

5 c 5

5 b 5

7 e 5

Total 35

Written

Question
number

Points Maximum Points

8 L0

9 10

10 10

11 10

Total 40

75
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1. The sum of all values of rn such that y : emt is a solution of the DE

a"-6y'-7a:0
1S

a)0
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d)2
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0
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2. The sum of all constant solutions of the DE
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3. An integrating factor that makes the DE equation

y@s + y\ dr + (ra + 7ry3) dy : g

exact is l'^txr9) N (r'': )
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4. A thermometer reading 70'F is taken out where the temperature is 20'F. Four
minutes later, the reading is 30" F. The thermometer's reading 8 minutes after it
was brought outside is

T- 1; = cbL
a) 28"F

b) 24'F
c) 26'F

@ztr
e) 25" F
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5. Which one of the followingis a 4th order, linear differential equation

u) (a)n * ry : sirl ,
b) a""+ay'+e'a:o

14 atttt + e'a" * a :ln r
d) a"" +,y"' *sin(ry): s'
e) a"" +*'a" *ru'- sin(g)

6. According to the Existance and Uniqueness Theorem,

the IVP # : ry, a@): B has a unique solution if

a) a:0,
:1,

c 0 :0,
d cY: 1,

e (t :2,

0:l
0: -L
0:0
0:3
0: -4
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tvt
J =- u

{
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f a>-t- -L



418 Math202.211, Exam 1 (Code 001)

7. The solution curve of the initial-value problem

dy.^,#*3Y:6x3, g(1) :1

passes through the point

a) @,2)

b) (3,9)

c) (2, -2)
d) (3, -8)

(2,8)
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e-
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8. (10 points) Find a family of solutions for the Dtr

r tany- (sec d#:,

(x \'r) Jx (s<.cx) d5 =o

-->-
-/ "lx - c"t;1 $=c) Se gor.ot\e TJ L .

x
S.ecx

+ K 6sx Jx oL: J3 =C)

JK6s( )* = Jc"L:J: ( a rts)

(r rts)
a K sir\X 1 GsX = ln t Singt * C

x Sinx + cos( I" I s,"5 [ = C

G rLs) (rrt)

s{

E
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9. (n0 points) Fincl the general solution of the exact DB

(3tr' 
"" - 9 sin (*A) + In r) d.r - (r sin(ry) - ZA e3') dy : g

hn[x4) = 3d3'(_ gs,n(;xx)t\ox (r ?L)
N (,<., J) = - X s,a (*S) * U a* (ret)

(o, neeJ to c-h".k)

Si&Q, {fu 'D€ r"s &<crct .+ dt.o rs ct $r^u{,,^ Bfr;y1 s"+-

* = M(<ui) - ?J*du - is,*(rs) +tqx r.tntrt

H/ (r,g) = - X' Slrr (,tY1 * ty i{
(" r ts)

Mj = ,VA

)r
aJ

t Ft*,s):
}F
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5

(-
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10. (10 points) Use a suitable substitution to solve the initial-value problem

du ,. I
*-u-a'I\r,alt):2
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dufru
lu

dr- a-;

"f

11. (L0 points) Soh,e the homogeneous DE

'K "l Jsffi K j JJ = ki t\Jt

=Lt'( e JyzUJt txJu

= L.t lu (,fts)

*

w3
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